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6 OstwaldFarben (0) N N 6 OstwaldFarben (o) N N
N . I t N , t
von maxln.mlem (m)C,g im ~100 100 von maxlm.alem (m)C, im ~100 100
Buntwertdiagram (A,, B,) Buntwertdiagram (A,, B,)
Lichtart D65, Y,,=10Q Y,=0 Lichtart D50, Y,,=100 Y,=0
Name Bereich X, Y,  Z, X, Yy Ay A Name Bereich X, Y, Z, %, Y, A, A
R, 567775597 38.03 026 06092 0383 596 489 R, 567775597 33.03 026 06092 0388 59 489
Y, 493775775 04.26 6.95 0.4325 0.5284 570 463 Y 493775 77.15 94.26 6.95 0.4325 0.5284 570 463
G, 493567 17.64 56.43 69 02178 0.6968 535 535 ¢ G, 493 567 17.64 5643 6.9 02178 0.6968 535 535¢
C, 380567 35.53 62.16 108.840.172 0.3009 489 596 C, 380567 35,53 62.16 108840172 0.3009 489 596
B, 3804931808 593 102150.1433 0.047 463 570 O—0O Ostw B, 380,493 18.08 593 102150.1433 0.047 463 570 Ostw
M, 567493 77.50 43.76 1022 0.347 0.1957 535 c535 M, 567493 77.50 43.76 1022 0347 0.1957 535535 O—O sRGB
W, 380_775 95.04 1000 108.8903127 0.329  100% W, 380_775 95.04 100.0 1088903127 0.329  100%
N, 380775009 01 01 0312603289 0% N, 380775009 01 01 03126 03289 0%
7, 380 77517.1 180 106 031270329 18% 7, 380775171 180 106 031270329 18%
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Lichtart D65
Y,,=100 Y,=0

B,=25B;(b,-b,) Y
3 =a [ (x=x,) /4]
by =bylz/Y
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CABZ’[A 7+B z]
6 OstwaldFarben (0) N
von maximalem (m)C,g im
Buntwertdiagram (A,, B,
Lichtart P40, Y,,=100 Y, =0
Name Bereich X, v % Ve A A
567775597 3303 026 0.6092'0.388 596 489
493775 77.15 94.26 695 0.4325 05284 570 463
493_567 17.64 56.43 69 0.2178 0.6968 535 535¢
380_567 35,53 62.16 108.840.172 0.3009 489 596
380_493 18.08 5.93 102.150.1433 0.047 463 570
567_493 77.50 43.76 102.2 0347 0.1957 535 (535
380_775 95.04 1000 108.890.3127 0.329  100%
380775009 01 01 03126 03289 0%
, 380775171 180 196 031270329 18%
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Lichtart D65
Y,,=100 Y,=0

an=1, by=-04

X, = 0,110, B, = 0,800
Cogo=[A+B7]

6 OstwaldFarben (o) N

von maximalem (m)C, im
Buntwertdiagram (A, B,)
Lichtart AGD, Y,,=100 Y,=0
Name Bereich X, Y, Z, X, Y, A, A
567_77559.7 3803 026 06092 0.388 596 489
493775 77.15 9426 695 0.4325 05284 570 463
493 567 17.64 56.43 69 0.2178 0.6968 535 535 ¢
380_567 35,53 6216 108.840.172 0.3009 489 506
380_493 18.08 593 102.150.1433 0.047 463 570
567_493 77.50 4376 102.2 0347 0.1957 535 535
380_775 95,04 1000 108.890.3127 0.329  100%
380775000 01 01 0312603289 0%

7, 380775171 180 196 031270329 18%
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